BISHOP HARTMANN ACADEMY
Aragate, Namkum Ranchi.
Sub: Maths
Class: III A+B+C+D
Chapter-3 SUBTRACTION.
Example 1.

Subtraction without borrowing.

ThHTO

+3642

Step one: subtract the ones 6-

Step two: Subtract the tens 5 - 4
Step three: Subtract the hundred 7 - 6

Step four: Subtract the thousand 9 - 3 = 6

2=4
=1
=1

Exercise 3 (A)

1. Subtract the following.

an 7 8 7 b. 6 4 8
- 4 37 2 305
38510 4 1 3
2. Arrange the numbers in columns and find the difference.
a. 760301603 Ans. 7 6 0 3
o LB 05
& 00 ©
b. 6725 - 6425 Ans. & 7 25
- 6425
0300

3. Find the difference and check your answer.

2761516 43 3 1
SISEBESED = 282 5
4321 76 56

Subtract with borrowing (Explanation)
Tihe: Hi e O

9 9
4 A0 10 10
/5//6//0”10’
DhLs
5 165 5
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Exercise 3(B)

1. Find the difference.

2 1016 12 6 15 17
i SR 72 b. 5. 728 7
=16 2- 8 7 -11829
£t & 75 4 57 8

2. Subtract to find the difference.

@ 2563 - 1819 b. 4837 - 2639

b.

i
= N
N[00 Ul
El o)}

S 4 7
9 =2 9
4 2 8

N [y O
O W w

3. Subtract by arranging in columns.

a. 2728 from 8379 Ans. 8 3 7 9
- 270208

5 6051

5 3781 from 6019 Ans. 6 0 1 9
= 3 7 871

3298

Exercise 3(C)

1. Fill in the blanks
a2 26026 =0

b. 390 - 000 = 390
c. 640 - 0 = 640
d. 568 - 568 =0
el D758 0L— 2175

f. 814 -0 =814

Exercise 3(D)
WORD PROBLEMS

1. A school has 2192 students, out of which 1349 are boys. How many girl
are there in the school ?
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First school collected Rs. 7413
Second School collected Rs. - 5928
1485

Rs Ans: First school collected. 1485 more than second school.

EXERCISE 3(E)

1. Simplify
a. 6684 + 385 - 299  Solution. Step 1. 6684
+ 3655
7 069

Step 2. 7069
- 299
6770
b. 6481 - 2444 - 3011
Solution Step 1. 6481
- -2440
4 041

Step 2. 4041
3011
1030
2. A shopkeeper had 946 toys, he sold 302 toys in the first month in m
second month he sold 248 toys. How many toys were left with the sho
SOLUTION
Total toys m the shop
Is: nth he sold
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TG Ne. 3. b T

~ Ex.3(b) Q.No.2c d, e&f
e Q-N0.3C,d’e&f
Q.No.4c d ed&f

Ex. 3(e) Q. No. 3, 4, 5 & 6 (Give the statement

Ex. 3(h) Q.No.1lc,d. .
Q. No. 3 !
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